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Note: Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt all questions.
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1. Attempt any three of the following : 12

(@) What do you understand by Rethrowing
Errors 7 How is it achieved using Err
Object ?
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(b)

(©)

(d)

How is the procedure programming
approach different from object oriented
programming approach 7

What are object properties 7 Name and
explain some common properties of Visual
Basic objects.

What do you understand by User-defined
array 7 How are individual membets of a
user-defined array element accessed ?
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Attempt any two of the following :

(a)

(b)

Explain and illustrate the difference
between a pre-test and post-test in various
types of Do ... loop structures.

What is the purpose of Select Case
structure ? Write an appropriate Select
Case structure that examines the values of a
single-precision variable called
Temperature and display one of the
following messages, depending on the value
assigned to Temperature.

I. “Ice”, if the value of Temperature is
less than 0.
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II.  “Water”, if the value of Temperature
~ lies between 0 and 100.

III.  “Steam”, if the value of Temperature
- exceeds 100,

| (c) Write a loop that will calculate the sum of

every fourth integer, beginning with I = 3
(ie. calculate thesum 3 + 7+ 11 + 15+ ...))
for all values of I that are less than 100.
‘Write the loop using For...Next structure
and thereafter using Do Until ... Loop
Structure. '
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Attempt any two of the following pairs :

(2) - Consider the following program segment.

Option Explicit
Dim connect AsAADODB.Connection‘ :
Dim Rs As ADODB.Rgcordset
Private Sub Form_Load()
Connect.ConnectionString =
“DSN=BDP;UID=Admin”
Connect.Open |

End Sub _
This program segment has an error because
it does not execute the Connectgopen .
statement. The DSN path in ODBC
connection is found to be ﬁorrect. Point out

and explain the error.
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(b)  Consider the following program segment.
xX=0
ForI=1To 10
IF (I'Mod 2 = 1) Then
K=X+]
Else
X=X-1
Endif
Exit for
Next [

What shall be the value of X after above
For .... Next loop is executed ?

(c). Consider the following program segment :

X=0.
"Forl=0To4 -
For]J=0Tol-1
Select Case (I+]-1)
Case-1, 0
X=X +1
Case1,2,3
X=X+2
Case Else
X=X+3
~ End Select
NextJ
Nextl

What shall be value of X after the execution
of above segment is completed ?
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Option Explicit -
Dim Connect As ADODB.Connection - .
Dim Rs As ADODB Recordset
Private Sub Form_Load()
Connect.ConnectionString =
“DSN=BDP;UID=Admin”
Connect.Open
End Sub
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X=0
ForI=1To 10
IF (I Mod 2 = 1) Then
X=X+
Else
X=X-1
End if
~ Exit for
Next I
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X=0
ForI=0To4
Forl=0Tol-1
Select Case ([+J-1)
Case-1,0
(=X +1
Case 1,2,3
K=X+2
Case Else
X=X+3
End Select
NextJ

Next |
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4. Auempt the following : 10

M/s, Kumar and Co. Lid. maintains a database of
its purchases and sales of items through two
tables : Items and Transactions, the details of
which are given below ;

Employces
Field - | Data Type’ * .| Description St
Code | Text (widih:4) | Identity of
Empleyees
(Primary Key)
Name | Text (width:30) | Name of
Employees
BDate | Number/Single | Date of Birth
JDate | Number/Integer | Date of Joining
the organization.
Superld | Text (width:4) | Identity of

Supervisor
Deptld | Number/Byte | Identity of
' Depariment
Monthly Pay
 Ficld > | -Data Type bom siD estrinion g
Code | Long Identity of

Employees |
(Foregin Key)
Montk | Number/byte Byte value 1=Jan,
2=Feb ... 12=Dec
Basic | Number/Long | Basic pay of
employee for the
maonth

Days Number/byte Number of days

employee works
L in a month
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Code and Month together constitute the
composite key for the table Monthly Pay that
stores Basic pay as adjusted by the number of
days the employee actnally worked. The payroll
data pertains to the calendar year 2010. You are
required o forin SQL strings for any two of the
following queries so that the string so formed can
be used to open a record set in VB.
(a) Find list of employees with their identity,
full name, date of joining. Basic Pay and
number of days they worked during the

siven month that is identified by a variable

tMonth.

(b) Find the list of Emplbyees with their Basic
Pay during the month identified by a
variable tMonth, whose -Supervisor is

identified by the vanable tSup.

(c) Find the Total amount of Basic Pay during
the month identified by variable tMonth
and paid to Employees who work in

department identified by tDept.
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